Caster Table Type M24

PARTS CATALOG

This catalog gives the numbers and names of parts on this machine.

1. CasterTable .......ceeveiiiiiiiiieeecieeeeee, 1P

May 31, 2016 V1.0



1. Caster Table

104

102

103

101




1.Caster Table

Ir;:i:x Part No. Description A?s;an:sTy Ir;:i:x Part No. Description Azst()e’n:i:y
1 D3C71501 |BRACKET:COUPLING:RIGHT 4 101 03130060N |PAN HEAD SCREW:M3X6 8
2 D3C71502 |BRACKET:COUPLING:LEFT 4 102 03604008N |SCREW:M4X8 3
3 D3C71503 |BRACKET:COUPLING:FRONT 4 103 04523008N |BINDING SELF-TAPPING SCREW:3X8 4
4 D3C71504 |BRACKET:COUPLING:BASE:FRONT 1 104 09544010N |SCREW:POLISHED ROUND/SPRING:M4X10 16
5 D3C71505 |BRACKET:COUPLING:BASE:REAR 2 105 09544008N |SCREW:POLISHED ROUND/SPRING:M4X8 12
6 D3C71510 |STAND:CASTER 4
7 H2931081 |CASTER:AH012032 2
8 H2931082 |CASTER:M4041060 2




